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NCERT EXERCISE 3.4

i air of linear equati .
‘he following P quations by the eliminati ‘thod :
SONG T 5 and 2x —3y=4 ition method

Y-
N Ei
' f_+_2,2::-—1 and x—§=3
@37 3
. of linear equations in the followi
m the par = owing problems, and fi sir solutions
(P; ‘f’ hey exist) by the elimination method: - p 2 Bl cit EOIMON
() I we add 1 to the numerzitor and subtract 1 from the denominator, a fractio
reduces 10 1. It becomes -5_ if we only add 1 to the denominator. What is
fraction?
(i) Five years ago, Nuri was thrice as old as Sonu. Ten years later, Nuri will be tw
a5 old as Sonu. How old are Nuri and Sonu?
(jif) The sum of the digits of a two-digit number is 9. Also, nine times this nun
is twice the number obtained by reversing the order of the digits. Find
number.

o withdraw ¥ 2000. She asked the cashier 10 gLV

Meena went to a bank t
y no!

7 50 and T 100 notes only. Meena got 25 notes in all. Find how man
50 and T 100 she received.

(v) A lending library has a fixed charge for
charge for each day thereafter. Saritha pai
while Susy paid ¥ 21 for the book she kept

and the charge for each extra day.

(iv)

the first three days and an add
d Z 27 for a book kept for sever
for five days. Find the fixed
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3x+4y =10
and 2x -2y =2 | o
Multiplying (i7) by 2 and then adding with (i), we get
3x+4y =10
4 —4y = 4
7x =14
% =

),

Putting x =2 in (i),
2x2-2y =2

So the solutionisx =2, y=1.- ...~ - Ans.
(@) " Bx—Sy_4o=go

and Oy _2y+7

S 9y - 2y 7=0"
- Multlplymg (l) by 3 and then subtractm
o 9x— 15y 12=0

Zx-2y-7=9
S b
—13y-5 =

"'1 :i)/ = fs
y~-5
13

g with (ii) we get,
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_ 9 =2
he S luUO“i ES ’ 13
so0:! x 2Y _ g
53
(n) w = —1
6
= 3x+‘4y= -
=2 =3
aﬂd : 3
3x_y — 3
> 3
3x—y=9
S : et
racting (0) and (if), We &
Sub 3x+4y= -6
_Bx;ry=_9
Sy‘-—‘ - 15
-15
AR
Putting y =— 3 1n (i), we get
3x-(-3)=9
= 3x+3=9
= 3x=9-3=6
& x=12

30 e 3
L o Ihe Solutionisx=2.y=-3  Ans.
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e (‘t‘\c aumerator of the fraction be
| nd the denominator be y

y
N

, X
rhen the fraction = -;

\ccording to question
x+1

—
r—

Ak SR
xt+1=y-1
x—-y=—1-1
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x—y ==2
x 1
and w11 o
| Y+
2x =y+1
2x—y =1
Subtracting (i) and (ii) we get,
xX—y=-2
2x—y =
Xy = 1
. x=73
Putting the value x = 3 in equation (7)
3—-y=-2
-y ==2-3
y =35
So, Fraction = > Ans.

(i;\ I Ac 41 5

Scanned with CamScanne



-~ = s

i) Let the present age of Nuri be x
¢ and the present age of sonu be y

According to question

Five years ago; .
Age of Nuri =x—5

and Age of Sonu =y — 5
= x—5=3(-95)
= x—5=3y-15
— x-3y-5+15=0
x—3y+10 =0

Ten years later,
Age of Nuri =x + 10

and Age of Sonu =y + 10
x-2y+10-20 =0

2 x-2y—10=0
Subtracting (i) and (ii) we get,
| x-3y+10 =0
x=-2y—-10 =0
-+ +
>+20 =0
_ =2
Putting the valye =20 1Jr}1 equgtion (2), we get
¥=2x20 =10 o
g 40 =10
X =350
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. ‘ ot the fen '
i~ nd  UNit’s dlglt be y

;xccordmg to question.
x+y =9

Two digit number = 10x +y

and ~ NEw number = 10y + x
9(10x +y) = 2(10)7 + x)
90x + 9y — 20y + 2y
W0x—2x =20y -9y
83x =11y
88x - 11y =0
D1V1d1ng both the sides by 11
8x — -y = =)
Adding (1) and (ii) we get,
xX+y =9
8x—y =0
9% =9
Pllttmg the value x 1 .x i .
— 1, 1N €quation (7)
| l+y =9
So’thethAﬁ‘ y=9-1=8
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AT LI e :
@ the \ alue nation (/)
,u!” | +y =9

y=9-1=38
o digit number

o the 1
. 10Xty 104 | 4 g . ‘
) Lot the no. of ¥ 50 note be v . A
. and that of T 100 note be y
According to question
x+ty =125
and 50x + 100y = 2000
Dividing both sides by 50
, x+2y =40
Subtractmg (i) and (ii) we get,
x+y =25
x+2y =40
-y =—135
y=15
Putting the value in y = 15 in equation (i)
Cx+15=25
x =10
So, number of Z 50 notes = 10 and number of T 100 notes

VAN - ER
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